M-G-5-1_Lesson 1 Exit Ticket KEY

1.  Plot the following points on the axes below.
A (−4, 0)
B (2, 8)
C (10, 2)

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


2.  Connect point A to point B.  What is the slope of that line segment?  m = 
[image: image1.wmf]3
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3.  Connect point B to point C.  What is the slope of that line segment?  m = -
[image: image2.wmf]4

3


4.  Are the line segments perpendicular?  How do you know?  Yes; the slopes multiply to −1
5.  Connect point A to C.  What is the midpoint of that line segment?  (3, 1)
6.  What is the length of AC?  
[image: image3.wmf]1
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